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How many rice cakes do you have?
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English ver. -

There is a rice cake that piled the shape of a triangular pyramid of five

steps.

The method how to know the total number of rice cakes is the first step

is one, in addition, the second step is three two to the first step, in

addition, the third step is six three to the second step, similarly, as for

the fourth step, ten, the fifth step become fifteen.

In other words, as for the number of bases, it is to the thing which

increased the number of the steps to the number of steps on the base.

In the other solution, | add 1 to five of the base and make 6 and | take 5

and 6 and do it with 30.

In addition, | make 7 and | multiply 7 by 30 and do 2 with 210.

I understand that | divide 210 by 6, and 35 rice cakes are piled up in

total.

A person in charge: Fujita,Takahashi and Maeshima
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How many rice cakes do you have?
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For example when rice cakes pile up the number of 35
the total number of rice cakes of the n step?
When | think by progression,
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The above mentioned thing is written on this
Wasansyo.
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| found out that there was also so high Thus

English ver.
This arithmetic that we were in charge of was
difficult,and there was the part which was missing
for understanding. | intend to completely
understand it in cooperation with other groups.

In addition, there was the part which did not know
how | might write it when | understand it into
English.

Therefore | thought that | should acquire English
vocabulary.

arithmetic in Japan from the front more than
300 years through this experience.

I think you aren't supposed to forget that there
was such way of calculation in Japan.
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4+ (n—1)(+4n+6) substituting what stage,
it can be seen that the number of rice cakes.

A person in charge Takeda and Nomura



